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 The mudari*: The & )Ll 375 takes farhah, e.g.:
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The amr: After the omission of the && L)l C3°5 the verb commences with a sakin letter, so it

needs hamzat al-wasl, e.g.:
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Pl — N — Jf..a..v\ ‘return’ (tansarif-u — nsarit — insarif).

The magdar: 1t is on the pattern of :Jbuu‘ (infi*dl-un), e.g.:
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In the nagis verb the final va ' changes to hamzah, e.g.:

gs]‘;-‘;‘ - 2’)1?_-3‘ (forZs}’\,..;\) to be or become clear
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The second radical takes kasral in the ism al-fa'il, and farthah in the ism al-maf il e.g.:

-
2 L om °s
” » * -
’ - 9 o ” 9 -
- - w 2 . . A
- . - N - -
T shoa (for zalt-a)
[ - M N (S ’
h 7,, = ™ e ) .

The noun of place and time: It is the same as the ism ul—nu;}"ﬁl, e.g.
:,éjg.i:a: ‘itbends’ : Calanis ‘place of bending’, i.e., a road bend.

£, 9, . . .
The word (S (munhana-n) is also used in this sense. curve, bend, twist




This bab denotes, among other things, mutiwa ‘ah (4.65 LEU\) which means that the object of a

[ joas isglall F3 to agree by = 55
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I'his hab denotes w,u\. Deg.: (
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Note lhdl « o>JVin the first sentence is maf il bili, and in the second 1s /a7 'il.

Here are some more CX(H]]DIL‘SI

The door opened.

' The Muslims % - .
Lo Ay 2 shzn ~--% The unbelievers got
U godanal| Ja defeated the N | . -

L unbelievers 5 - defeated.
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Note that J.u.»\ is the t)w ot';}i:i and J;A: is the t)Ua:o of J.:J e.g.
w0y 4 F1 / :
W')%» .,;\:-‘:J\ :JanaS ‘I broke the glass.’ ;b-J ’,;.Sa\ The glass broke.’ Ej
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b=l O ‘Ismashed the glass.” . b= )1 L “The glass broke to pieces.
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(2) If the interrogative hamzah (hamzah al-istifhdam) is prefixed to this hab, the hamzat al-was/ is
omitted, ¢.g.:
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NI N] | B ),.~<J\ (a inkasara — ankasara)

TR A ;.-’;o.i ‘Did the door open?’ i
,Z/_LmJL e Did the door open?” g
L:*L/J'/ y ;)\:,..J\ \_,..l.a:i ‘Did the car overturn?’ @"
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sentence Vol <o\ as mudal ilavhi, and in the place of jarr, and 1s mucldal.
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Here are some more examples:

¥ ~ P sa. 2 .3 ‘
S DL f; Q.\é) ‘I was born the day my grandtather died.”

Enfbj\ e ?ﬁ :D};L.a ‘I left the day the results appeared.’ g
88 Conditional sentences b,zJ

(4) ¥+ means ‘but for Particle of impossibility for the presence of something &l.uuo‘ — &;&.25 - '&lifal FORM-8
Had it not been ¢ I To be impossible, to be difficult, refusal
V27 . 2 .
a2 | ! \ Y J ‘But for the sun the earth would have perished.’
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This particle (Y}J ) is called > );-}5 t L.:o\ J}- which signifies that something has failed to

happen because of the existence of another. In this example the perishing of the earth has not taken

called Y}J ) - It is a verbal sentence with the verb in the mad,

A lam is prefixed to an affirmative jawab. A negative jawab does not take this /am, e.g.:
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Instead ol the mubiada  we may also have a nominal sentence with &1, €.2.°
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‘But I'or lhc fact that wcathcr is hot, I wou » attended the lectwre.’ /;, _ | :
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‘But for the fact that you are i a hurry, I would have invited you to (my) house.’
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Demonstratlve pronoun as an adlectlve |
(5) ¢ Ida ('..b‘).v‘ » ‘Who is this Ibrahim?’

RAWESIFRY ,;J..J\ 5 ,L..u “This car of the headmaster is beautiful.’
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ilavhi it is a na 't ), Here are some more examples:

¢l J,.:S.‘.'.J\ :;\l,.;_- :,,ZJ ‘Whose is this passport?’ E
/ . : o i % e
coxl=meds Sl b “Showmethiswatchof yours. &8
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AN AT do\; .bu \ N dl“d ‘I am afraid I will not perform /ajj after this year of
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Ga ) Gilas d,hf:::j;@u ;m::“;sf mine.” (hadith)

N.J \ M.J \.9 \..\_b \yb.‘ \-A-b J \ - Go with this letter of mine, and drop it to them (Quran 27: 28).
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Predominance wuﬁ

Here we have used the masculine O ).3«3.\; even though the pronoun refers to sons and daughters.

In the hadith:
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' Indud thc sun and the moon are two signs. They are not u.llp'std for the sake of someone’s

feminine and }2.3)\ which is masculine.
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Here is another example: /e 1 'I’ w, /w9 ?
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Using one gender to represent both genders. For example, using :,lssi and ;lalls
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And for all, We have made heirs to what is left by parents and relatives. And to those whom your oaths
have bound [to you] - give them their share. Indeed Allah is ever, over all things, a Witness.

Conditional Sentence
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Particle of Impossibility for Impossibility /&[_‘_my )’il'“"" 4 ‘)-‘-‘- JJ

The particle ¥ is used to express an unfulfilled condition in the past.
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Had it been S g =‘§J
The second thing didn’t happened because the first thing was not present.
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Particle of impossibility for the presence of something 3 g ¢! ﬁtfm| a1 Y
condition 1s fulfilled
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The second thing didn’t happened because the first was present



